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Geography Model Test Questions 4 in English With Answers

The longest continuous boundary in the world is that between

(A) India and China (B) India and Pakistan

(C) China and Russia (D) Canada and Unites States of America
The first cotton mill in India was setup at

(A) Kolkata (B) Mumbai (C) Mysore (D) Coimbatore
Which country is the main exporter of rice?

(A) India (B) China (C) Philippines (D) Myanmar
How many major ports are there at present in India?

(A) 5 (B) 11 (C) 12 (D) 15

The most suitable soil for the production of cotton is

(A) alluvial soil (B) loamy soil (C) light and well drained soil (D) black soil
In which state solar energy has been put into practical use?

(A) Orissa (B) Punjab (C) Bihar (D) Rajasthan
Head quarters of North — Eastern Railway is at

(A) Assam (B) Kolkata (C) Gorakhpur (D) Danapur

The steel plants at Durgapur, Bhilai and Rourkela were established during the period of the
(A) first five year plan (B) second five year plan

(C) third five year plan (D) fourth five year plan

Which state is called the sugar bowl of India

(A) Andhra Pradesh (B) Uttar Pradesh (C) Himachal Pradesh (D) Tamil Nadu
Zawar Mines of Udaipur district are famous for

(A) Iron ore (B) Copper (C) Manganese (D) Zinc

Which of the following regions of India contributes nearly three — fourth in tea production?
(A) South West India (B) North East India

(C) South India (D) North West India

Pong Dam is a joint venture of the following states of India
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(A) Haryana, Punjab, Rajasthan (B) Gujarat, Madhya Pradesh, Orissa

(C) Guijarat, Rajasthan, Punjab (D) Rajasthan, Haryana, Gujarat

The most ideal region for cultivation of cotton in India is

(A) The Rann of Kutch (B) The Kashmir valley

(C) The Indo — Gangetic plain (D) The Deccan plateau

The best coking coal is mostly obtained from this mine of India

(A) Jharia (B) Ramagundam (C) Neyveli (D) Raniganj

Which of the following manufacturing industries is regarded as the most basic for our modern industrial
development?

(A) lron and steel industry (B) Paper industry

(C) Textile industry (D) Automobile industry

The two states of India that are richly endowed with iron ore are

(A) Madhya Pradesh and West Bengal (B) Bihar and Orissa

(C) Orissa and Andhra Pradesh (D) Bihar and Tamil Nadu

Which city o India is called as “Electronic city of India”?

(A) Bangalore (B) Bhopal (C) Chennai (D) Hyderabad

Which of the following is the principal reason for the concentration of heavy industries in the South Bihar?
(A) Cheap labour (B) Capital (C) Raw material (D) Nearness to Kolkata

Identify the incorrect matched pair

(A) Rourkela - Orissa

(B) Bhilai - Bihar

(C) Durgapur - West Bengal
(D) Bhadravati - Karnataka

Where continental climate prevails in India?
(A) Southern (B) Western (C) North eastern (D) North central
‘Mango showers’ occur predominantly in

(A) West Bengal and Assam (B) Deccan plateau
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(C) Gujarat and Maharashtra (D) Kerala and Karnataka

Chambal river flows through the states of

(A) Maharashtra, Madhya Pradesh and Bihar

(B) U.P., Madhya Pradesh and Bihar

(C) U.P., Madhya Pradesh and Rajasthan

(D) U.P., Madhya Pradesh and Orissa

Canal irrigation is widely prevalent in this state of India

(A) Punjab (B) Andhra Pradesh (C) Bihar (D) Tamil Nadu
The Indian state that produces the highest percentage of prawn is

(A) Maharashtra (B) Tamil Nadu (C) Kerala (D) Andhra Pradesh
Most of the cyclones that form during October and November in India originate

(A) Southern Hemisphere Ocean (B) Arabian Sea

(C) Southwest Bay of Bengal (D) Southeast Bay of Bengal

Which of the following regions in India is more prone to earthquake?

(A) Aravalli range (B) Deccan plateau (C) Himalayan range (D) Malwa plateau

In which season of the year the frequency of the tropical cyclones from Bay of Bengal is found at
maximum level?

(A) during south west monsoon (B) during north east monsoon

(C) during autum (D) after summer season

Deciduous forests are also called as

(A) Evergreen forests (B) Monsoon forests

(C) Mangrove forests (D) Alpine forests

Which state has the largest area under tank irrigation?

(A) Tamil Nadu (B) Uttar Pradesh (C) West Bengal (D) Karnataka
Which of the following states has maximum iron ore reserves?

(A) Bihar (B) Madhya Pradesh (C) Orissa (D) West Bengal

Central Mining Research Stations is located at
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(A) Dhanbad (B) Pune (C) Cuttack (D) Pimpri

The largest producer of Natural Rubber is

(A) Karnataka (B) Kerala (C) Tamil Nadu (D) West Bengal
The alternate name of River Brahmaputra is

(A) Tista (B) Tsangpo (C) Gandak (D) Yamuna
Which state has the most favourable sex ratio of 1040 females per 1000 males?

(A0 Bihar (B) Kerala (C) Assam (D) Tamil Nadu
Corbett National Park is found at

(A) Bihar (B) Karnataka (C) Madhya Pradesh (D) Uttar Pradesh

The cultivation of cash crops on extensive scale with a heavy capital, using modern techniques of farming
is known as

(A) intensive agriculture (B) plantation agriculture

(C) extensive agriculture (D) subsistence agriculture

Andaman and Nicobar islands are situated in

(A) Arabian sea (B) Bay of Bengal (C) Indian ocean (D) Red sea
Red soils are red because of the presence of

(A) Nitrogen (B) Potassium (C) Manganese (D) Iron ore
Which city in India has the largest population according to 1991 census?

(A) Chennai (B) Kolkata (C) Mumbai (D) New Delhi

Match list | correctly with list 11 and select your answer using the codes diven bellow:

List | List Il
a) Maha river 1) Thiriampak
b) Godavari 2) Pasthar lake
c) Krishna 3) Mahabaleswaram
d) Cauvery 4) Thalai Cauvery

Codes:
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(A) 4 1 2 3

(B) 2 1 3 4

(c) 3 1 2 4

D) 1 3 4 2

Population census in India is made

(A) every year (B) every 5 years (C)every 10 years (D) at the time of every general election
The largest producer of iron ore in India is

(A) Bihar (B) Orissa (C) Madhya Pradesh (D) Karnataka
Coarse grains include

(A) cotton seeds (B) rice (C) maize and barley (D) pulses

World’s longest railway platform is in

(A) Singapore (B) London (C) America (D) India

Currency of Japan is

(A) Rupee (B) Dollar (C) Yen (D) Dinar

The first underground railway in India was built at

(A) Kolkata (B) Chennai  (C) Mumbai (D) Delhi

Match list I correctly with list 11 and select your answer using the codes diven bellow:

List | List 11
a)Hindustan photo films 1) Coimbatore
b) Atomic power station 2) Ooty

c¢) Tamil Nadu Agricultural university  3) Neyveli
d) Thermal power station 4) Kalpakkam

Codes:

A 1 2 3 4
(B) 2 4 1 3

C) 3 2 1 4
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D) 2 3 4 1

Which Indian city is known as the “Computer City”?

(A) Mumbai (B) Delhi (C) Bangalore (D) Kolkata

First atomic plant was constructed in India at

(A) Tarapur (B) Kalpakkam (C) Narora (D) Poona

The new name of the country 'Rhodesia’ is

(A) Namibia (B) Myamar (C) Zimbabwe (D) Tanzania
Equinox occurs when the sun is vertically above the

(A) Equator (B) Tropic of cancer  (C) Tropic of capricon (D) Antarctic circle
Which of the mountain ranges are not found in greater Himalayas?

(A) Karakoram (B) Kailas range (C) Nangaparvat (D) Pirpanjal
Which of the following is a rain shadow area in India?

(A) Eastern side of the western ghats (B) Malabar coast

(C) Siwalik hills (D) Khasi hills

Which soil swells when wet develops cracks when dry?

(A) alluvial soil (B) red soil (C) black soil (D) laterite soil
Which of the following states has the largest reserves of lignite?

(A) Tamil Nadu (B) Rajasthan (C) Guijarat (D) Jammu and Kashmir
Srinagar, the summer capital of Jammu and Kashmir is situated on the banks of river

(A) Chenab (B) Jhelum (C) Ravi (D) Indus

The leading producer of coffee in India is

(A) Kerala (B) Tamil Nadu (C) Karnataka (D) Assam

The Hindustan shipyard is found at

(A) Goa (B) Cochin (C) Kolkata (D) Vishakhapatnam
Which of the commodities earns maximum foreign exchange for India?

(A) Jute (B) Iron and steel (C) Tea (D) Sugar

Which of the following is not a tributary of Ganges?
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(A) Gandak (B) Gomati (C) Yamuna (D) Chambal
61. Which of the following is not a port?

(A) Cochin (B) Paradip (C) Rameswaram (D) Vishakhapatnam
62. The Vaigai river rises in the

(A) Agastiyar hills (B) Cardamom hills  (C) Kolli hills (D) Coorg
63. The three states that grow coffee in India are

(A) Kerala, Karnataka, Andhra Pradesh (B) Kerala, Karnataka, Tamil Nadu

(C) Tamil Nadu, Andhra Pradesh, Orissa (D) Karnataka, Maharashtra, Andhra Pradesh
64. the textile industry is based on

(A) agriculture (B) minerals (C) chemical industry (D) none of these
65. The programme of improving agricultural production is known as

(A) operation flood (B) blue revolution (C) green revolution (D) white revolution

66. The important pass that links Kerala with Tamil Nadu is

(A) Palghat (B) Thalghat (C) Bhorghat (D) Aramboli

67. Match list I correctly with list 11 and select your answer using the codes diven bellow:
List I List Il

a) Alluvial soil 1) Kovai, Ramanathapuram

b) Red soil 2) Raeswaram, Tuticorin

c) Black soil 3) Cauvery Delta

d) Marshy soil 4) Two thirds of entire Tamil Nadu

Codes:

(A) 3 1 2 4
B) 3 4 1 2
(C) 4 2 1 3
D) 2 1 3 4
68. Match list I correctly with list 11 and select your answer using the codes diven bellow:
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List | List 11
a)Major crop 1) Sugarcane
b) Commercial crop 2) Rice
c) 100 tonnes per hectre 3) High yielding varieties
d) Green revolution 4) Jute
Codes:
a b c d
A 2 4 3 1
B) 2 4 1 3

€ 3 2 1 4
D) 3 1 4 2

Which is not correctly matched?
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(A) Cotton industries - Coimbatore

(B) Match industries - Sivakasi

(C) Paper industries - Pugalur

(D) Leather industries - Madurai

The Indian standard tine is ahead of the Greenwich Mean Time
(A) 4v% hours (B) 6 hours (C) 8% hours (D) 5% hours

Which one of the fuels causes minimum environmental population?
(A) Diesel (B) Coal (C) Hydrogen
Which district of Tamil Nadu is famous for leather industry?

(A) Vellore (B) Ramnad (C) Namakkal
The “Rice Bowl” of Tamil Nadu is

(A) Tiruchirapalli district (B) Thanjavur district
(C) Nagai district (D) Chengalpattu district
The “Cotton City” of Tamil Nadu is

(A) Madurai (B) Kanchipuram (C) Karur
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(D) Kerosene

(D) Dharmapuri

(D) Coimbatore
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Which country is collaborated with India in setting up Koodangulam Atomic power station?
(A) France (B) US.A. (C) Russia (D) Germany
Which Indian state has two capitals?

(A) Kerala (B) Jammu and Kashmir (C) Punjab (D) Gujarat
Which Indian state has the largest area?

(A) Madhya Pradesh (B) Uttar Pradesh (C) Tamil Nadu (D) West Bengal
What is ‘El Nino’?

(A) it is a disease caused by viruses

(B) it makes more rains

(C) it is the warming of oceans and atmosphere

(D) it is a western musical dance

The longest electrified railway line is between

(A) Mumbai — Delhi (B) Kolkata — Delhi

(C) Kolkata — Mumbai (D) None of these

Which is the “Play ground of Europe™?

(A) US.A. (B) Switzerland (C) Los Angels (D) None of these
Namakkal city in Tamil Nadu is known better for

(A) Lorry body building (B) Poultry (C) Textile (D) Palm cultivation
Andaman and Nicobar islands are part of which state?

(A) West Bengal (B) Orissa (C) Andhra Pradesh (D) None of these
Which state of India, has the largest number of sugar mills?

(A) Haryana (B) Uttar Pradesh (C) Orissa (D) Tamil Nadu
In Tamil Nadu, concentration of handloom units is found in

(A) Salem (B) Dharmapuri (C) Erode (D) Kanyakumari
Kolkata is situated on the banks of the river

(A) Ganga (B) Hooghly (C) Krishna (D) Kanyakumari

In Tamil Nadu, the atomic power projects is located at
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(A) Mettur (B) Kalpakkam (C) Narimanam (D) Kayathar
87. Lignite deposit is found more in the district
(A) Cuddalore (B) Sivaganga (C) Erode (D) Madurai

88. Cotton production is more in the district

(A) Erode (B) Virudhu Nagar  (C) Kanchipuram (D) Thanjavur
89. In Tamil Nadu, Gypsum is available in
(A) Trichirapalli (B) Coimbatore (C) Chengalpattu (D) Madurai

90. As per 1991 census, the state with highest population is

(A) Rajasthan (B) Himachal Pradesh (C) Nagaland (D) Uttar Pradesh
91. As per 1993, the state which is lowest in infant mortality rate is

(A) Madhya Pradesh (B) Bihar (C) Orissa (D) Kerala
92. Match list I correctly with list 11 and select your answer using the codes diven bellow:

List I List Il

a) Kodaikanal 1) Tamil Nadi

b) Simla 2) Himachal Pradesh

c) Darjeeling 3) West Bengal

d) Bangalore 4) Karnataka

Codes:

(A 2 1 3 4
B) 2 3 4 1
) 1 2 3 4
(D) 4 2 1 3
93. Location of Kolkata, Vishakhapatnam, Chennai and Mumbai is
(A) first three in east coast and fourth one is south coast
(B) first three in east coast and fourth is west coast
(C) all in east coast
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(D) all in west coast

The state which does not grow wheat

(A) Andhra Pradesh (B) Punjab (C) Uttar Pradesh (D) Haryana
Mineral production is more in the state of

(A) Rajasthan (B) Tamil Nadu (C) Bihar (D) Kerala
Two cities of cotton textile industry

(A) Mumbai and Chennai (B) Mumbai and Ahmedabad
(C) Mumbai and Kerala (D) Bangalore and Nagpur

Match list I correctly with list 11 and select your answer using the codes diven bellow:

List | List 11
a) Mumbai 1) Leather goods
b) Chennai 2) Automobiles
c) Kanpur 3) Textiles

d) Vishakhapatnam 4) Ship Buildings

Codes:

A 2 3 4 1
(B) 3 2 1 4
© 1 2 3 4
D) 4 1 2 3

Tea plantation are more in

(A) Assam (B) Karnataka (C) Andhra Pradesh (D) Madhya Pradesh
Alluvial deposits are more in region.
(A) delta (B) river valley (C) river bed (D) mountain

High density of population is found in

(A) Dharmapuri (B) Thanjavur (C) Cuddalore (D) Nilgiris
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